11.022]

Measurement g

WALT SO[VG [enng worcl Problems.
Read Hw WOf‘Cl Problem. Idenhfﬂ H’le lenng Of H’le flrst number. Add Hw seconcl number tO

find Hw answer. USG a ruler tO help Hw chlldren count on l70 find Hw answer.

J-ack's car was 8cm long. Tom)s car Simro,n's Penci[ was qcm long.

was 6cm longer. What was Hwe lenng SUSOH)S Pencil was 6cm [onger. What

OJ.' Tom's COJ‘? was H’LC lengH‘m OJ.' SUSOH'S Pencil?
Example-

80m + 6cm = |4cm

Desmoncl‘s IDOOI( was ||cm long. Tlm‘s SOFOHS cushion was |4cm long.
bOOI( was 7cm longer. What was H’le BGHO,'S cushion was 7cm longer. \/‘”'LOIT

lenng Of Tim‘s IDOOI(? was H‘»e lengH‘m OJ,' SOFOHS cushion?




